3= OIE/&s

11. 22 RC al&
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11. 32 RC 2=
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11-2. £ F5 2 &l

L

v 2

Y

Uitl

v ME(1/4W) : 10Q, 1k
v FHIHAIE : O.1uF

v' ZtY]
v, BYE BE
v OXE LE|IOIH (Digital Multi-Meter)
v QAZAITIT (Oscilloscope)

v MNSEAMI| (Function Generator)




11-3. R85 ZA
_ (RZ0°)(X£90°) _ RXcZ(0°-90°)
R=JXc JRZ+ X2/ —tan™ %)
‘Z‘: RX,
JRZ+ X2
0 =—tan"(—)

L1IL]




11-4.

o)

1o}

f=500Hz
Vs=10Vpp

Z=1H4= 500Hz, 10Vpp 2 B} LIRE

L1IL]



GND

11-4.

\V

L1IL]






11-4. =I==0l HE U
/ UXg 2EDHE 0l 23
SHC

N

2
zd
oo
02
o

DIGITAL MULTIMETER

—SWEEP FUNCTION GENERATOR—
WAVE FORM

VI Tz 4 Ay
Q.00 . OO
FREQUENCY  AMPLITUDE ouTt

® O ®&-

f=500Hz, Vs=10Vpp

L1IL]



--500Hz

/=S

35.32mV

VR1(rms)

99.88mVpp

35.32mV X 2 X 1.414=

VR1(p-p)

99.88MV,»,
100
9.988MA,,

L
e b -

R e R A )
LR R R R LR

i ILLY.I.L.LLLL PRI -
Ln lLL LLLL‘ llllL..

B
LR LR AL " Sl B Mottt

Qb ——== 7 ﬁb‘.LLLLLL‘ -
Gl A bl
WOy

| —— e ot
ol ettt et alabe.
o o ot ot ol
o ot
ol o o o ol ok
ottt bl ' Ll

SRS

500Hz

10Vpp
GND

\V

10

L1IL]



11-4.

Y
N

L1IL]

/ QMEADEOCHI S
X0 =

N2 5L Mt

LliL)

OSCILLOSCOPE

r~—

TSWE FUNCTION GENERATOR=—

— WAVE FORM

I_IIIIkHZ|—|_,/|/r\/

:: ““'Hz:||:|-
REQ

UENCY  AMPLITUDE out

JoRRONNC

f=500Hz, Vs=10Vpp

I==0ll HE SLIEA

BEU S0, CH2 S

C&

11




: 500Hz, CH 2, Vre 2] 8 &

Vre 1 62-X5mV/DIV

/EI A

30mVpp

lLlLLLLLLI!LLLLLl
LR AL L bl bl Ll

DU G g pu <

s S S g - - ——
otk o

]

11-4.

\V

- 5mV/DIV, 0.5mS/DIV

1001.2Q2

12

L1IL]



11-4.

\V

: 500Hz, CH 1, VR 2| & &

/EI A

10Vpp

Vs, Ve, Vr2 1 52FX2V/DIV

ottt ol ..n.wL.L.thLLL
Ew LLLI LtLLL LLLL -

- lL. U P N N PR Lue S 3

St "

2V/DIV, 0.5mS/DIV

13
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11-4. FOH0I 2 YMEA

N

L/
v =T 1kHz v CH 2, Vre 2| & &}
VR1(rms) = 38.85mV

VR1(p-p) = 38.85mV X 2 X 1.414 VRr2 1 62EX10mV/DIV=60mVpp
= 109.86mVpp

V., 109.86mV.,

. (2 3) = =10.986m
T(E ) R1 100 ADP
Z|(29) Yoo Ve _g19250

|, 10.986mA,,

V 60mV
| /\]% — R2 — PP :6m
c(29) R, 100 Aop
X (2 3) _Vs _1We _ 1666670

. 6mA,

10mV/DIV, 0.2mS/DIV

L1IL] i




11

|EHA
V CH2, Vre o Mg

=
11-4. TOH40l @2
Q1
v F=1}<£= : 1.5kHz
VR1(rms) = 43.91mV
VRi(p-p) = 43.91mV X 2 X 1.414
= 124.18mVpp

VR @ 4.82EX20mV/DIV=96mVp

Ve, 124.18mV,,

I (2 3) = =12.418m
T(E ) R1 100 ADP
Z|(& %) Vs WVe  _go5530

I, 12.418mA,,

L V 96mV, -

l /\16]: — “R2 _ PP —9.6m
C(E ) R2 100 ADP
xc(*—cl?;g)zvs _ WV 1041670

. 6mA,,

20mV/DIV, 0.1mS/DIV
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11-4.

N

V=DM 2kHz

F==0ll S

11

|& A

v CH 2, Va2 o] & &}

O

VRi(rms) = 49.9/mV
VRi1(p-p) = 49.9/mV X 2 X 1.414
= 141.32mVpp

VR2 1 6.12EX20mV/DIV=122mVpp

Ve, 141.32mV,,

(23 = =14.132m
T(E ) R1 100 ADP
Z|(2 3 Vs We 07610

I, 14.132mA,,

Vv 122mV,
| /\]% _ 'R2 _ PP _129
(= 9) R, 10 Aer
X (23 Vs . 1WVe 19670

. 12.2mA.,

20mV/DIV, 0.1mS/DIV
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11-4.

N

=T} AKHz

F==0ll S

11

|& A

v CH 2, Va2 o] & &}

O

VRi(rms) = 79.29mV
VRi1(p-p) = 79.29mMV X 2 X 1.414
= 204.44mVpp

VR2 : 4.92EX50mV/DIV=245mVpp

Ve,  204.44mV,

(A 3) = =20.444m
T(E ) R1 100 ADP
Z|(29) Vs Ve _sg9140

I, 20.444mA,,

Vv 245mV,
| /\]% _ 'R2 _ PP — 24.5m
(%)= == Aro
X (23 _Ys Ve =408.16Q2

. 24.5mA,

50mV/DIV, 0.1mS/DIV

17




11-4. FOH0I 2 YMEA

N

% Z=}4= ;- 8kHz

vi-GHL24-Vire &) -&-&F

VRi(rms) = 138.94mV
VR1(p-p) = 138.94mV X 2 X 1.414
= 392.92mVpp

VR2 : 4.42tX0.1V/DIV=440mVpp

Ve, 392.92mV,,

I (&)= =39.292m
T(E ) R1 100 APP
Z|(29) Vs e 54500

I, 39.292mA,,

V 440mV
| /\161:’ _ 'R2 _ PP:44m
(=2 %) R, 1000 Ao
xc(glt;g)=vs _ W 597070

I, 44mA,,

0.1V/DIV, 0.1mS/DIV

18




11-4. =10 S SUE L

\V
v £F382 Hlw
-+ Va1 It Vi lc Vr 2 Xc |Z]
=
o (mVpp) (mApp) (mVpp) (mApp) (Vpp) (mApp) (R) (R)
+ |28 02 |2 02 |4 02|48 OIS |2 0S| S|4 02 |E 0E
500Hz|99.88: 105 [9.99:10.5| 30 : 80 | 8 i 8 | 10 i 10 | 10 i 10 |3333:3183|1001: 954
1kHz [109.86 118 |10.99:11.8| 60 : 63 | 6 : 6.3 | 10 : 10 | 10 : 10 |1667:1592| 910 : 847
1.5kHz[124.18 187 [12.42: 13.7 | 96 : 94 | 9.6 : 9.4 | 10 : 10 | 10 : 10 1042 1061| 806 : 728
2kHz |141.32 161 |14.131 16,1 | 122 i 126 | 12.2:12.6| 10 : 10 | 10 : 10 | 820 796 | 708 | 623
akHz [204.44 270 |20.44: 27 | 245 i 251 | 245:251| 10 : 10 | 10 : 10 | 408 : 398 | 489 : 370
8kHz [392.92 513 |39.29: 51.3 | 440 i 503 | 44 503 | 10 i 10 | 10 : 10 | 227 i 199 | 255 | 195

L1IL]
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=0l HE k2 Bl

11-5. =
« T
!
N
lc 2 Ir & ALK (E)
===
ald 8. Hi &gk
500 Hz 16.7 17 .44
1 kHz 30.96 32.13
1.5 kHz 43.83 433
2 kHz 50.66 51.48
4 kHz 67.8 68.3
8 kHz 77.2 78.75

L1IL]

lc

A4 28) =tan*(©)

R

¢ 247121 7k) = tan ™ (Xi)
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11-6. 8 &7

o)

1o}

21

J

g 2
COPE PROB

J (s
0.1uF

™

HE

SCOPE PROB

R1
10

(

U

f=500Hz
10Vpp

Vs

Z=1H4= 500Hz, 10Vpp 2 B} LIRE

L1IL]



11-6. 82Tt 872 Fla

Y

s

Ll

° INTENSITY  FOCUS ... SCALEILLUM SLOPE  VamiBLE
O Q Q ) Q T :

0

H
%

il

AT-MAG XY
(=] Ao
POWERIFWLY | TRACE SEP. TIME/OIV
GH1 ) POSITION

g0

GH1 ADD cH2 ) POSITION CHz e
X5k (i | i [ x5 || s pogmon
= DUAL =

INVERT
VOLTS/OIV VOLTS/DIV
VARIABLE VARIABLE
TRIG.

(] 0 >
2 .y 2 Rl b
/ / MODE _ SOURCE
v/E [ SN\mv@m A | v/5 [SN\mv(E AC AUTO INT
i 2 i 20
GND| N NoRm [l cHz -
2 J 1 o 2 J 19 R v
: o/
A/CAL v.

.
¥ TRG.
c LINE Q LEVEL
CAL EXT
4
CH1 INPUT(X)

S

m
\")
H
Mx

CH2 INPUT(Y) EXT INPUT
A @ y
OSCILLOSCOPE oh oH ohi
MAX. CAT Il — MAX. CAT Il MAX. CAT Il /

——=SWEEP FUNCTION GENERATOR=——

———— WAVE FORM
Ui VD2 1 Ay
U D I CIC W

FREQUENCY  AMPLITUDE ouT

® & @

f=500Hz, Vs=10Vpp

L1IL]
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i 872 Rl
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11-6.

CH 2

CH 1

ettt et ot
Tttt At

LLl —- thlLl ¥
L_,."lLLlL

Lol ol ol ol

L N .

4 I

GND

\V

23
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1T = 47Fx05mSec
= 2mSec

At =17Fx0.5mSec
=0.5mSec

2mSec:05mSec
=360°:46

460 =90°

24




S ——

CH 1 :2V/DIV, CH 2 : 10mV/DIV, Time : 0.2mS/DIV

1T =57/ x0.2mSec
=1mSec

At =1.27Fx0.2mSec
=0.24mSec

ImSec:0.24mSec
=360°:46

40 =86.4°

25



L]

CH 1 :2V/DIV, CH 2 : 10mV/DIV, Time : 0.1mS/DIV

1T =6.57/x01mSec
=0.65mSec

At =1.67Fx0.1mSec
=0.16mSec

0.65mSec:016mSec
=360°:460

460 =88.62°

26



1T =57/ x01mSec
=0.5mSec

At =1.27Fx0.1mSec
=0.12mSec

0.5mSec:0.12mSec
=360°:46

40 =86.4°

27



l]l ~ CHI: 2V/DIV, CH 2 : 20mV/DIV, Time : 50uS/DIV

1T =57Fx5045ec
= 25015ec

At =1.27F x50 15ec
= 60uS5ec

250 1Sec:60 uSec
=360°:46

40 =86.4°

28



l]l CH 1 :2V/DIV, CH 2 : 0.1V/DIV, Time : 20uS/DIV |

IT = 67Fx2015ec
=120uSec

At =1.57F x 20 15ec
=30uSec

120 1Sec:30 uSec
=360°:460

460 =90°

29
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11-6. 8 =2 Fa
L/
=SB a8 9 o erat
500 Hz 0 & 90 €
1 kHz 86.4 = 90 €
1.5 kHz 88.62 © 90
2 kHz 86.4 = 90 €
4 kHz 86.4 = 90 €
8 kHz 90E 90 €
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